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New Kit Kat 
l
ines 
l
aunched
Nestlé Confectionery is adding to the shopper appeal of Kit Kat – the fourth-ranked impulse chocolate brand – with a new sharing product that will be available from 14 September.
Kit Kat Bites, a 104g bag containing mini-chocolate fingers, has an recommended retail price of £1.59 and is designed to capitalise on the growing popularity of shared occasions with friends and family and will benefit from a £4m ad campaign.
It follows last month’s arrival of Kit Kat Chunky Cookie Dough (RRP 60p), which combines chunky chocolate with cookie dough.
Source: 
www.talkingretail.com
, 
September 2016
)3.	Explain the purpose of Nestle launching this new Kit Kat product. (6 marks)
	
	
	
	
	
	
4.	What others extension strategies might Nestle have considered? (6 marks)
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The first Apple iPad was launched in April 2010, 2

quickly becoming a must-have item. The launch
of the much-improved iPad2 a year later saw
sales zoom ahead. iPad2's most important
feature was a backwards camera, unlocking

(a) Use Figure 36.3 to estimate the average
sales boost achieved by the iPad in its
fourth [Christmas) quarter. 2

(b) Outline one disadvantage to Apple of having
such high seasonal variations in sales. (2]

Facetime software. As the product started to
mature, Q4 (Christmas) sales became steadily g Isljaclg‘slf\}\//é:‘cc ;\[n[\ﬁc;‘)rc‘r)l:gkwhcn arsugll Pk "
more important. The product had gone from N
must-have to must-give. The launch of the iPad 4 Outline why a business might like it best when
Air (2013) and iPadPro (2015) helped to keep the its product is a must-have item 2
iPad’s product life cycle reasonably long. 5 From the data provided, evaluate the
effectiveness of the extension strategies
Total: 20 marks . used by Apple for its iPad. You should use
1 Define the term ‘product life cycle’. m the information given above as well as your
knowledge of business. 12)
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